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UXt XEHE = A4(2) e ol | Zxey
128 6 20199 HM4%] =4 X 2020 = Of AtQH Of 22| AlOf B A2 7t 3| 179,200 SHts 6 FIEAN|
128 9¢ AHH H|T Mt 20| Aot 3G 2o 2 YF XA 7HE 3| 119,000 23 7 FIEAR|
128 10¢ SEAMAIOL 2EHA HEIA AIZEIF 89 § HAAFRT X @27t 77,000 ‘40| 7 FIEZAH|
128 13¢ OLEME QN 7|23 T 2@ 2] 7tE 3| 107,000 EEQHR 7 FIEAR|
128 19¢ AHE neod g7 XA 7tE| 55,000 =z 5 FIEZAH|
128 24Y AHE 7SR B4 AR VSt gme MAAE 2HHE 120,000 ZABIL} 6 FIEZAF
128 27 OFEME{QIM 1Y o PRFT Ml ZHEs| 101,000 otz 6 FIEZAF
128 27¢ RN HHH et HHgfad XA 7HE 162,000 i i 7} 8 FIEZAR|
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UXt XEHg =AU e ol | Zxy
122 39 |H2583] Alo|3| Of| A9 of At Aojof 2 2020 HAA FoAY A2 e 27| 2 ZHE 9| 119,000 sty 6 FtEZR|
128 19| IFEZ =T MY 28X 2k U S8 RE7|8 2E3 182,000 | g =17 7 FtEZR|
128 24| AXH S0ALY =0 U A HZE T REI|E UEH 184,000 2|7} 8 FtEZR|
128 27| AXHE 2020 F2 YL FT AE A PO 7| ZHE | 98,000 | AEIHAE 7 FtEZR|




